ESE HRE
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L. R G3R R — A s Th B K N4
C/C++fEH5 .

#include <stdio.h>

#include <stdlib.h>

#include <limits.h>// {5 INT MIN A& X

WE R R N INL TR
void findMaxTwo(int arr[], int left, int right, int result[]) {
/1 AR EA =TT R
if (left == right) {
result[0] = arr[left];
result[1] = INT MIN; // ffiJ{] INT MIN F/RE/MESIE
return;
}
/WA P TER

if (right - left == 1) {

if (arr[left] > arr[right]) {
result[0] = arr[left];
result[1l] = arr[right];

}else {
result[0] = arr[right];
result[l] = arr[left];

}

return;

}

/R KR o MR o

int mid = (left + right) /2;

int leftResult|[2], rightResult|[2];

/[ VAR A 4y

findMaxTwo(arr, left, mid, leftResult);

// VAR IAT 2 Ay

findMaxTwo(arr, mid +1, right, rightResult);

// BIFE

if (leftResult[0] > rightResult[0]) {
result[0] = leftResult[0];



result|[1l] = (leftResult[1l] > rightResult[0]) ? leftResult[1l] :

rightResult[0];

telse {
result[0] = rightResult[O0];
result[1l] = (rightResult[1l] > leftResult[0]) ? rightResult[1]:

leftResult[0];

}

}

int main() {

}

int n;
scanf("% d", &n);
if (n <= 0) {
printf("HAK/NLHRKTF 0! \n");
return 1;
}
int * arr = (int * )malloc(n * sizeof(int)); // BhA4TECEUH NAF
if (arr == NULL) {
printf("WASELRM! \n");
return 1;
}
for (int 1 = 0; 1 <n; i++) {
scanf ("% d", sarr[i]);
}
int result[2];
findMaxTwo(arr, 0, n -1, result);
printf("%$ d $ d\n", result[0], result[1l]);
free(arr);

return 0;

Python A .

import sys

#IMBTER B R AP EL

def find max two(arr, left, right):

# WR A —1 IR
if left == right:
return arr[left], -sys.maxsize # ffif] sys.maxsize Fni/NEHIH

# WERAPINITR



if right - left ==
if arr[left] > arr[right]:
return arr|[left], arr|[right]
else:

return arr[right], arr[left]

# AR KR 5 B 43
mid = (left + right) //2
left max, left second = find max two(arr, left, mid)

right max, right second = find max two(arr, mid +1, right)

# BIt4E
if left max > right max:

return left max, max(left second, right max)
else:

return right max, max(right second, left max)

R T

if name =="

__main_ ":
n =int(input()) # W ABH KN
if n <= 0:
print ("FR/NLITKT 01"
else:
arr =list(map(int, input().split())) #MAZLITE
maxl, max2 = find max two(arr, 0, n - 1)
print(maxl, max2)
2. MR AR — BRI
C/C++HUH .

#include <stdio.h>
#include <stdlib.h>

/ /T IRIESR
int findSum(int arr[], int left, int right) {
/) IR EA AR
if (left == right) {
return arr|[left];
}
/7 iR R o M o
int mid = (left + right) /2;



int leftSum = findSum(arr, left, mid); // ZEHHE9HM
int rightSum = findSum(arr, mid +1, right); // &¥FA IR
/] IR

return leftSum + rightSum;

int main() {
int n;
scanf("% d", &n);  // HABH KN
if (n<=0) {
printf("EEH /NIRRT 0! \n");
return 1;
}
int * arr = (int * )malloc(n * sizeof(int)); // W& EEH N
if (arr == NULL) {
printf("WASECRM \n");
return 1;
}
for (int 1 = 0; 1 <n; 1i++) {
scanf("% d", sarr[i]);
}
int sum = findSum(arr, 0, n - 1); / /7 A AR TEE R i

printf("% d\n", sum); // A
free(arr); // BENAT
return 0;

}

Python A .

#T ALK AN

def find sum(arr, left, right):
# IR A —IER
if left == right:
return arr[left]
# oA R o O AR
mid = (left + right) //2
left sum = find sum(arr, left, mid)# Z2FH Al
right sum = find sum(arr, mid +1, right) # £ A
CEIRES

return left sum + right sum



def main():
# B A K R
n =int(input())

if n <= 0:
print ("E RN T 0l
return

# AT R (— 17 AZSAR 7B )

arr =list(map(int, input().split()))

# AT A BT R D BUR T 5 R R N2

if len(arr) ! = n:
print ("HiABITCR ML BAUR/ NI )
return

# SRR RA

total sum = find sum(arr, 0, n - 1)

print(total sum)

if name ==" main ™
main()
3. TLAEM n DICRIVEEH [ 0: n—17, ZERMPHEMES & /NITE
C/C++ AL
#include <stdio.h>
/ /PR
int cul(int arr[], int 1, int r, int k){
if (1 == r)

return arr[1l];
int target = arr[(l +r) /2], left =1 -1, right = r + 1;
while (left < right){
do{
left++;
}while (arr[left] < target);
do{
right--;
}while (arr[right] > target);
if (left < right){
int temp = arr|left];
arr[left] = arr[right];
arr[right] = temp;



// right == left, right ZAHREERE/ N THNEEMEER, right £ EGE R
RFFA B Y
if (k <= right)
cul(arr, 1, right, k);
else

cul(arr, right +1, r, k);

int main() {
int n, k;
scanf("% d % d", &n, &k);
int arr[n +1];
for (int 1 = 1; i <= n; i++)

scanf ("% d", &(arr[i]));

printf("%% d/MITEEES d\n", k, cul(arr, 0, n -1, k));
return 0;

}

Python .

def quick select(arr, 1, r, k):
ifl ==r:

return arr|[1l]

# PR
target = arr[(1 + 1) //2]
left =1 -1
right = r +1

while left < right:
while True:
left +=1
if arr[left] >= target:
break
while True:
right -=
if arr[right] <= target:
break
if left < right:
# LHICR
arr[left], arr[right] = arr[right], arr[left]



# AR k A7 e 8 H
if k <= right:

return quick select(arr, 1, right, k)
else:

return quick select(arr, right + 1, r, k)

def main():
# 5 n Hl k
n, k =map(int, input().split())
# HABATR
arr =list(map(int, input().split()))
# AR & TEA RGN
ifk<lork>n:
print("k BYETCRL! ")
return
# PR
result = quick select(arr, 0, n -1, k - 1) # Python I&R5IM 0 i

# a4
print (£"58 {k}/NAUICE & (result}")

if name == main ":

main()



